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Instructions: Answer question ONE and any other TWO questions.

QUESTION ONE (30 Marks)

a) BC Ltd intends to purchase a stone crashing machine costing Ksh. 40Million. The machine is
expected to have an economic life of two years with zero salvage value at the end of its useful
life. To adjust for risk on this investment, probabilities have been attached to the expected cash
flows over the two year period as shown below

Year 1 Year 2

Cash flow (Sh, ‘000°) Probability Cash flows (Sh, ‘000’) Probability
12,000 0.20

25,000 0.40 16,000 0.30
22,000 0.50
20,000 0.40

30,000 0.60 25,000 0.50
30,000 0.10

Additional information
i.  The cash flows in year 2 are conditional on cash flows in year 1. All cash flows have been
reported on after tax basis
ii.  The cost of capital is 10%
iii.  Ignore depreciation

Required
i.  Advice whether BC Itd should purchase the machine (20 marks)
ii.  Apart from method used in (i) above, describe other four methods used to incorporate risk
in capital budgeting (4 marks)
b) Describe four managerial options used in capital budgeting (4 marks)

¢) Explain the term the agency problem and how it arises in finance (2 marks)
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QUESTION FIVE (20 Marks)
a) The following statement of financial position and income statement relate to BC limited. The
firms share is currently priced at sh. 60 per share.

BCLTD
Statement of financial position as at 31 December 2020
Assets Sh ‘000’  Equity and liabilities Sh ‘000’
Cash 400 Accounts payable 5,000
Account receivable 3,000 Notes payable-bank 1,000
Inventories 4,000 Total current liabilities 6,000
Total current assets 7,400 Mortgages 4,000
Premises 1,000 Debentures 6,000
Plant (NBV) 5,000 Total long term debt 10,000
Equipment (NBV) 8,000 Preference shares (100,000 shares) 1,000
Total fixed assets 14,000 Ordinary shares (500,000 shares) 1,000
Total Assets 21,400 Share premium 2,000
Retained earnings 1,400
Total shareholders’ equity 5,400
Total 21,400
BCLTD
Income Statement for the year ended 31 December 2020
Sh ‘000’
Sales 6,000
Less: cost of goods sold 3,500
Less: selling expenses 1,000
EBIT 1,500
Less: interest expense 1,100
EBT 400
Less: taxes (30%) 120
Net income 280
Required
i.  Altman Z-score for BC Itd and interpret its meaning (15 marks)

b) Explain the term efficient market hypothesis and discuss the main forms of EMH (5 marks)
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